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1 ISR VS 2 [TH4ER
H= A=
R IR IR R
1t : H4K R X it . SER R OBEX
MR 7 : A w5 ;XN 7« Repsg
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo x 4S -1 50 x 4S -1 50
2 2] d Jris] 3D -1 50 x INT +2 -150 5
3 panyiic] [£3] 4Sx -3 -500 [£3] 4Sx -5 -1100 12
4 =] [£3] 4H +2 680 [£3] 6H = 1430 13
5 2] x 3S -1 50 [£3] 2H +1 140 3
6 panyiic] [£3] 7CxX -1 -100 [£3] 6Cx = 1090 15
7 =] [£3] 6S +1 1460 [£3] 6S +1 1460
8 NTo 1t 4S -2 -100 1t 4S -1 -50 2
9 panyiic] 1t 4H = 420 1t 4HX +1 690 7
10 | N8B 1t 4S 1 -100 1t 58S -100
11 | N 1t 4Sx -3 -500 [£3] 3NT -3 -150 8
12 | @it [£3] 4D = 130 1t 3H = 140
DATUM&iit iFEE
SR I &RE&Eqh v S+ ] 17 | 48
DZDK/BEE -27 SERY/ X/ N\5E 15 Aait 17 | 48
HEBRX/2FE 15 XUFA/Freg B 27 V.P. 244 | 17.56
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3I5FR VS 4 hliiES
= 1=
FEFA LIS LIS FEFA
It - Bk iR KT 1t : R 5 ¢ R
[EZIY M [[] 7 : ()% 5. HEE 79 . KA

mix | B [mon| w0 | em | miee |moa| me | sR | s T | T

1 | wxl| ® 6D | -4 | 200 | 5 | -1 | 50 4

2 |@dt] & | 2nT | 12 | 50 x | ANT | = | -90 4

3 |zl B8 | 4sx | 3 | 500| 7 | 44 | +1 | 650 | 4

4 |wsl & | 4H | +2 | 680 | & 6H = | 1430 13

5 |gdt|l & | 3H = | 140 | &8 | 3H = | 140

6 |&m| 4 | ecx | = [ 1090 4t | 7Cx | -1 | -100 | 15

7 |wa| &= 6S | +1 | 1460 | 4t 6S = | 1430| 1

8 |wx| 4t 4s | 2 | -100 | 4t 4s | -2 | -100

9 | FHA| 4t 4H +1 | 450 it 4H +1 | 450

10 |W&| 4t | 3NT | +2 | 660 | B | 4H = | 620 1

11 | WE| 6D | -1 | 50 =] 5 | -1 | -50 3

12 | @it & | 4H = | 620 | 4t 2H | +1 | 140 | 10

DATUM%iit 5 E
I'&Fa hLLIES r: 5 ] 42 | 13
sKIP=/JLR0ON 46 fF=/E5E 13 ait 42 | 13
RMI/R87 -13 oRESZE /Al -46 V.P. 17.24 | 2.76
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5 Bkig{es VS 6 FEEIH
A= =
IRSHER [EZ=TIpA) [EZ=TIpA) IRSHER
it : TR 7R : IKEREE 1t : Hene X : 2
B . R 78 ILERE B EH 7g . Bk
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo R 4S -1 50 R 4S -1 50
2 2] d x INT = -90 R INT +1 -120 1
3 panyiic] [£3] 4Sx -4 -800 [£3] 4Sx -4 -800
4 =] [£3] 4H +2 680 [£3] 6H = 1430 13
5 2] [£3] 4H = 620 [£3] 4H -1 -100 12
6 panyiic] [£3] 6CXx = 1090 [£3] 6CXx = 1090
7 =] [£3] 7S -1 -100 [£3] 4S +3 710 13
8 NTo 1t 4S -2 -100 1t 4S -1 -50 2
9 | &Ml it 4H +1 | 450 it 4H +1 | 450
10 | N8B [£3] 4H = 620 [£3] 3NT +2 660 1
11 | N Jri] 5D = -400 [£3] 5Cx -1 -100 7
12 | @it 1t 4H -1 -100 [£3] 3D +1 130 6
DATUM%it L
Bkt EEETba 7. X ] 13 | 42
TCARIG/ AR -10 HtBhR/ 5, 11 &it 13 | 42
RH/ B 11 SREDEE/LIERE 10 V.P. 2.76 | 17.24
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7 EMER VS 8 FEFE
= 1=
BMNER RAEE RAEE BMNER
1t : #hxRZ X BEE 1t : BRK R BhiER
B B 7 =EfF X 7g . FE&E

mix | B [mon| w0 | em | miee |moa| me | sR | s T | T

1 | wxl| ® 4s | -1 | 50 R 4s = | -420 | 10

2 |®mdt] z&® | ANT | +12 | 220 | zZ& | INT | +1 | -120

3 |&HEA| & | 4H = | 620 A | 4H | -1 | 100 12

4 ||l @ | a0 | +2 | 680 | B | 4H | +2 | 680

5 |mdt] & | aNT | 2 | 200 & | 44 | -1 | -100

6 |FA| & 6S | -1 | 100 | & 5C | +1 | 420 8

7 |wa| &= 6S | +1 | 1460 & 6S | +1 | 1460

8 |wx| 4t 4s | 1 | 50 | 4t 4s | -2 | -100| 2

9 | FHA| 4t 4H = 420 it 4H +1 | 450 1

10 |wa | 4t 4s | -1 | -100 | 4t 4S -100

11 | WE| 5H = | 450 & | aNT | -3 | -150 7

12 | b db 3H = 140 it 3H +2 | 200 2

DATUM%iit 5 E
EMER rIEFE v 5 ] 12 | 30
PR /B -33 BRRR/ XIS -17 ait 12 | 30
BinR/AEE 17 BRIESE/ZEE 33 V.P. 4.85 | 15.15
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9 MLt VS 10 ERX{"1L
= H=
JMETHE BRI BRI JMETHE
it : KSR K AEE | 3759 = BRI
B BBk 7 RE R 74 X6
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |WE] # | 3NT | -4 | 200 | % 4S = | 420 | 12
2 |Fdt] 4t 3s -100 | 4t 2S = 110 5
3 |&Al K 4H = | 620 | #&F® 4H | +2 | 680 | 2
4 | WB| mE 4H | +2 | 680 | B 4H | +1 | 650 1
5 |Edt| ™= 3H = | 140 | &= 4H = | 620 10
6 |&m| 4 | 6cx | = 1090 B | 7Cx | -1 | -100 | 15
7 |WBEl & 6S | +1 | 1460 | &5 6S | +1 | 1460
8 | Wx| it 4S -1 | -50 it 4S -1 | -50
9 | FHA| 4t 4H = 420 it 4H +1 | 450 1
10 | wma| it 4S -1 | -100 | 4t 4s | +1 | 650 13
11 | WE| & 4AC = | 130 | 4 | 5Ccx | -2 | -200]| 6
12 | gde| 78 3S 3| 150 | 7 3s -1 50 3
DATUM%iit 5 E
AR BaR(Zb 7, 5 -] 39 | 29
RoR/MEXL 13 R /@l it O ait 39 | 29
SRU/&E3E @) SfE/IRE -13 V.P. 13.18 | 6.82




